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Question 1 2 3 4 5 6 7a 7b 7c 8 9 10 11 12 13 Total 
Mark(s) 
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1 1 1 1 5 1 2 2 3 3 2 1 2 3 2  

Mark 
achieved 

                

  



1)   Add 8 mm to 7 cm Circle your answer.  

    

150 mm  1.5 cm   7.8 cm   708 mm    

 [1 mark]  

 

  

2)   In a pie chart, one sector represents ¼ of the data.  

What is the angle of that sector? Circle your answer.  

    

4°   25°   45°   90°    

 [1 mark]  

 

  

3)   Which of these cannot be the number of lines of symmetry of a triangle?  

Circle your answer.  

    

0   1   2   3 

[1 mark]  

 

    

  

4)   Solve         n + 7 = 103  

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………… 

 n =   ………………………………………………………… 

 [1 mark]  



 5)   Beth sells hot dogs at a market. Each hot dog is a sausage in a bread roll.  

  

The table shows her costs.  

  

Fee paid to market £240 

Bread rolls 42p per pack of 6 

Sausages £2.50 per jar 

Other costs £57 

 

Beth sells the hot dogs for £3 each.  

She sells 300 hot dogs.  

Work out her total profit. 

 

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………… 

 Answer  £…………………………………… 

[5 marks] 

   

  

6)   Circle the cube number.  

  9   10 000   333    729 

[1 mark]  

    



7) 

  

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(c)  

  

The company sells three houses. The prices are £185 000, £239 000 and £136 000. 

The company earns 2% commission on each house. In total, how much commission 

does the company earn on these three houses?  

   

  

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………… 

       Answer   £ …………………………………. 

    

 [3 marks]      

  

8)  Four friends all give each other presents. The total cost of the presents is £83.40  

Work out the mean cost of a present.  

 

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………         

Answer   £ ……………………………………………………………………………………………… 

 

 [3 marks]  

 

 



9)  A forest has 6500 trees.  

The trees are beech or maple.  

number of beech : number of maple = 1.6 : 1  

What fraction of the trees are beech?  

  

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………… 

 Answer   …………………………………………………….. 

   [2 marks]   

 

    

10)  A shape is translated by the vector   (0
4
) 

 In which direction does the shape move? 

Circle your answer.  

    

up   down    left    right 

  [1 mark]  

 

  

11) The length of a table is 110 cm to the nearest cm  

 Complete the error interval.  

  

________________ cm ⩽ length <  _________________cm 

 [2 marks]  

 

 



12)  Doug owes an amount of £600. 

He wants to pay back this amount in five months.  

He says, “Each month, I will pay back 20% of the amount I still owe.”  

Show working to check if his method is correct.  

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………… 

 [3 marks] 

 

 

 

13)  The term-to-term rule of a sequence is  

  

  

  

The third term of this sequence is 120  

 

……..             ……..             120  

Work out the first term.  

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………… 

 [2 marks] 

Subtract and multiply by 5 


